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A 11 (B) 18
(S) (D) 15

In Fig. 2, a circle with centre O is inscribed in a quadrilateral ABCD such
that, it touches the sides BC, AB, AD and CD at points P, Q, R and S
respectively. If AB=29 c¢m, AD=23 cm, «B=90° and DS = 5 ¢m, then the

radius of the circle (in cm.) is:
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75t St T FHR o Rrew F 4f T @El T FR 1 I 0 30° 7 | HAR
FomR A wRA g (f.H) 2

(A) 253
(B) 5043
€y 7548
(D) 150

The angle of depression of a car, standing on the ground, from the top of a
75 m high tower, is 30°. The distance of the car from the base of the tower

(inm.)is :
(A) 253
(B) 50473
(C) 7543
(D) 150

wmﬁ@wﬁmm@mﬁw%aﬁﬁuﬁm%:

(A) (B)

D= =
| W

© D)

The probability of getting an even number, when a die is thrown once, 15 :
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In Fig. 3, the area of triangle ABC (in sq. units) is :

X
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Fig. 3
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8,  uf el 3w 3 wiTa qor fiewn = of) 37 A B, 1'|:=2—72 A W, I H
i (A H) © '
(A) 154
(B) 44
C) 14
(D) 7
If the difference between the circumference and the radius of a circle is

37 cm, then using n =2—72 , the circumference (in cm) of the circle is :
(A) 154

(B) 44

< 14

(D) 7
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Question Numpers 9 to 14 carry twe marks each,.

9, ﬁw%m%wﬁx%%@a‘oﬁﬁq:
 ABrisr_af5o0

Solve the following quadratic €quation for x

435245523

10. Fﬁqaiaﬁawﬁﬁmﬁmé@r&ﬁ%ﬂm%?

How many three-digit natura] numbers are divisibje by 72

1. amfd 4 &, s apc 3 W@mwgﬁsﬂ?ﬁ
SISt AB, BCWAC#W;%@aﬁD,EWFm
9 R ) gk Ap - 12 9, BC = 8 3wt oy

AC=IOW%,FﬁAD,BEHWCF€ﬁﬁWW
iRy | :

In Fig. 4, a circle inscribed in triag
its  sides AB, BC and AC g3

and F respectively. If AB = 2 cm,
AC

gle ABC touches
t points D, E

BC = 8 cm and
=10 cm, then find the lengths of AD, BE and CF.
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12. e R ol g 3 e e o i g e g

Prove that the parallelogram circumscribing a circle is a thombus.

13. waﬁﬁmﬁﬁaﬁnﬁ szuﬁaﬁmaﬁn@ﬁﬁ@wa@mm
WJW@WWW%Wwwqﬁm%@Rq@W%l

A card is drawn at random from a well shuffled pack of 52 playing cards.
Find the probability that the drawn card is neither a king nor a queen.

14. 14 94 x7@ﬁﬁmaﬁaﬁwwwméaﬁéﬁﬁawmﬁ, S ibCTe
&THCT T T B2 7ot e 72 7 R e | 91y ) 7 S 7 Sy

Wﬁﬁ-\t{l[n=%m]

Two circular pieces of equal radii and maximum area, touching each other

are cut out from a rectangular card board of dimensions 14 cmx7 cm. Find

the area of the remaining card board. [Use :%]

CRER ]
SECTION C

I GEIT 15 B 24 G TOF T97 % #7375 &

Question Numbers 15 to 24 carry three marks each,

15. & Tone A1 3 foTe fasma wefiaon foc (x—2) +6 = 0 % &l THH &7

For what value of £, are the roots of the quadratic equation kx (x~2) +6 = 0

equal ?
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17.

18.

19.
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TR A0 18, 15%, 13, .. , —491 %qﬁaﬁﬁwmﬁﬁmwmmﬂ
a1 T FTe Jra Hif

Find the number of terms of the AP 18, 15%, 13, ..... » —49% and find the
sum of all its terms.

l@ﬁﬂaﬁ@m%ﬁﬁﬁisﬁ, 4 Tt ToT 6 T ¥ | o v ary
ﬁgﬁﬁmﬁﬁqﬁwwwﬁﬂmﬁmﬁwﬁﬁggﬂﬁl
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R = aamﬁwso%mﬁ;@mﬁﬁ“wﬁmﬁ%,a}%ﬁ@rﬁﬁ
WWWI[\E:L'MF&%@]

The horizontal distance between two poles is 15 m. The angle of depression
of the top of first pole as seen from the top of second pole is 30°. If the
height of the second pole-is 24 m, find the height of the first
pole.[Use+/3 =1.732]

g hifsre 75 fig (7, 10), (=2, 5) @ (3,-4) wh HATESTE TR e %
M E

Prove that the points (7, 10), (=2, 5) and (3,—4) are the vertices of an

isosceles right triangle.
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24.
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Teh S Tk LSRR el T SR TEe Sa9 & 3THR &1 § N
S G 8| TSR 2R 1 I 14 I ¥ 797 39 99 B A SR

13 Tt ¥ | o1 1 Tl UETT et ST i | [n=27—2 fifen]

A vessel is in the form of a hemispherical bowl surmounted by a hollow

cylinder of same diameter. The diameter of the hemispherical bowl is

14 cm and the total height of the vessel is 13 cm. Find the total surface area

of the vessel. [Use —%-/%]

ot i T S e ¥ e R R e e w1 we ik wies fee

T, T et s @) afs S i S 10 T g SR sTar i B
3.5 5l B, < 38 fgei i orendt 1 e 31a il [n=% wifsra)

A wooden toy was made by scooping out a hemisphere of same radius from
each end of a solid cylinder. If the height of the cylinder is 10 cm, and its
base is of radius 3.5 cm, find the volume of wood in the toy.[Use © —%%]

21 Tt = ot g9 W TH AW, FE W 60° T HO ARG HW 2
¥ AR () I A FEE (i) T 30 s T Serave w1 deed |

[n%?ﬂﬁm

In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre.

Find : (i) the length of the arc (ii) area of the sector formed by the arc.
22
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Question Numbers 25 to 34 carry four marks each.

25.  TrefaRaa =i x % fow aa Al -

e (N T |

e
2a+b+2x 2a b 2x
Solve the following for x :

1 1 1 1
- =
2a+4bt2% 2a b 2x

a6, @1 a3 A 1 AN 400 T A ¥ | AfE s ARATI AT SR 16 T &, @
BT it h YIS T ShifSTC |

Sum of the areas of two squares is 400 cm®. If the difference of their

perimeters is 16 cm, find the sides of the two squares.

27 i e} iR it 3 wUE 7 9E1 S A 49 2 T 3UFH YAH 17 YT o1 ANT 289
2 &) 5@ Soft 3 wem n TR 1 AT FIA HISC

If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289,

find the sum of its first n terms.

28. mﬁﬁq%ﬁ%%ﬁgmmﬁ%@mﬁ-ﬁgﬁmﬁmﬁwméﬁﬁ?ﬁ
2

Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.
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29. 3Tef 6 F, [ au m,ﬁaoaﬁ%@ﬁqamammﬁi@r@'%ﬁhm: A
T B R G T T el | g € R u o ot Y, e g %! D R a91 T
m ¥ E R I3 et § | frg £177 B~ DOE=90° 2|
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In Fig. 6, / and m are two parallel tangents to a circle with centre 0,
touching the circle at A and B respectively. Another tangent at C intersects
the line / at D and m at E. Prove that DOE=90°,

A D

T

=

?

B E
Fig. 6

30.  Th AR % UR-fog @ wF v % Rrew 1 359w w5 30° & 3R waq & wre-

formg @ iR % e =1 372 w1 60° 2| 7 R 60 Tt =t &1, @ wam
ST W i

The angle of elevation of the top of a building from the foot of the tower is
30° and the angle of elevation of the top of the tower from the foot of the
building is 60°. If the tower is 60 m high, find the height of the building.
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ThEE | 12 Sl & e ¥ 3 wrertoes SRfa, 9 6 STeafiies SHHer ag1 3y
(e AT & | TE H § U AT A1gosa A1 T | TS Uieh =4fera & <
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A group consists of 12 persons, of which 3 are extremely patient, other 6
are extremely honest and rest are extremely kind. A person from the group
is selected at random. Assuming that each person is equally likely to be
selected, find the probability of selecting a person who is (i) extremely
patient (ii) extremely kind or honest. Which of the above values you prefer

more.

T THIA TGS ABCD % o fid A(3,— 4), B(=1, =3) @ C(=6, 2) &1 fid
D = Tdw1e 3T SIfie qom ABCD 7 Swat 3 shifsm |

The three vertices of a parallelogram ABCD are A(3, — 4), B(~1, —3) and
C(-6, 2). Find the coordinates of vertex D and find the area of ABCD.

2 Tt TTANER ST Aol SOTHR 9159 § Ui 0.4 11 /& Y X D Uk e I
H ST R | A 3o 5 o ot B 40 T R, O 3 Fifvre fF s w2 # S A
Tt 3T TR fehdT o1 ST |

Water 1s flowing through a cylindrical pipe, of internal diameter 2 cm, into

a cylindrical tank of base radius 40 cm, at the rate of 0.4 m/s. Determine the

rise in level of water in the tank in half an hour.
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oTq 1 TR Y o I Y Gl T aedt g F s b wmwn A 2, Ry
TS 24 Tft 2 T 36 SO o e gef Rt % =w w30 A Ao
10 ¥ft &1 58 o & Tf =1 w1 g w9y 10 IR 100 & St B w A T
T | [n=3.14 o ]

A bucket open at the top, and made up of a metal sheet is in the form of a
frustum of a cone. The depth of the bucket is 24 cm and the diameters of its

upper and lower circular ends are 30 cm and 10 cm respectively. Find the
cost of metal sheet used in it at the rate of Rs 10 per 100 cm® [Use n=3.14]
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